Name Date

7. Complete the table.

Height of Height of Height of
e Stack in Stack in Stack in
Checkers
mm cm m
A. 50
B. 500
C. 80
D. 80
E. 80

8. Complete each statement.

A. A stack of checkers is 3004 mm.
B. A stack of checkers is 3004 cm.
C. A stack of checkers is 3004 m.

9. A nickel is 1.98 mm thick. How many checkers would equal the height of
$1000 worth of nickels? Show your work.

10. A quarteris 1.75 mm thick. Imagine a stack of quarters as tall as the
Willis Tower (443 meters). Calculate the number of quarters in this stack.
Show your work.

11. How much is this stack of quarters worth?
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